
  
N. EFKHANIAN  &  N. TAVERNIER  

 

Les puissances 

Exercice 1 :  Calculer : 
5ଶ × 5ିଷ = 5ଶିଷ = 5ିଵ 

6ିହ × 6ିଶ = 6ିହିଶ 

8ଷ

8଺
= 8ଷି଺ = 8ିଷ 

7ହ

7ିଶ
= 7ହି(ିଶ) = 7ହାଶ = 7଻ 

4ିସ

4ିଷ
= 4ିସିଷ = 4ି଻ 

(6ିଷ)ସ = 6ିଷିସ = 6ି଻ 

Exercice 2 : écrire en écriture scientifique les expressions suivantes : 

6354 = 6,354 × 10ଷ 
 

0,0054 = 5,4 × 10ିଷ 

456 × 10ିଶ = 4,56 × 10ଶ × 10ିଶ = 4,56 × 10ଶିଶ = 4,56 × 10଴ = 4,56 × 1 = 4,56 
 

0,045 × 10଺ = 4,5 × 10ଶ × 10଺ = 4,5 × 10଼ 
 

7 × 10ଶ × 3 × 10ି଺

5 × 10ସ
=

7 × 3 × 10ଶ × 10ି଺

5 × 10ସ
= 4,2 ×

10ଶି଺

10ସ
= 4,2 ×

10ିସ

10ସ
= 4,2 × 10ିସିସ = 4,2 × 10ି଼ 

 


